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Section 6.3: Trigonometric Substitution
Practice HW from Larson Textbook (not to hand in)

p. 390 # 5-9 odd, 15-23 odd, 33-37 odd
Trigonometric Substitution
Good for integrating functions with complicated radical expressions.

Useful Identities
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[image: image1.wmf]q

q

q

q

2

2

2

2

sin

1

cos

       

     

1

cos

sin

-

=

Þ

=

+


2. 
[image: image2.wmf]1

sec

tan

   

and

    

tan

1

sec

       

     

sec

1

tan

2

2

2

2

2

2

-

=

+

=

Þ

=

+

q

q

q

q

q

q

.

[image: image19.wmf]2

2

2

hyp

opp

adj

=

+

[image: image20.wmf]opp

[image: image21.wmf]hyp

[image: image22.wmf]adj


[image: image23.wmf]2

1

x

+

3. Recall that for a right triangle 
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Trigonometric Substitution Forms

Let x be a variable quantity and a a real number.
1. For integrals involving 
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2. For integrals involving 
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3. For integrals involving 
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Example 1: Integrate 
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Solution:
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Example 2: Integrate 
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Solution:
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Example 3: Integrate 
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Solution: We know that for integrals involving 
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a = 1 for this example, we let
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We proceed with the integration as follows:
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Note: 
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